Tabulation of Bids Page 1 of 3

Contract ID: 026872.30 Counties: WASHINGTON Maine Department of Transportation

Letting Date: May 01, 2024 District(s): EASTERN REGION A True Copy:______

Call Order: 2 Project(s): Title :

Contract Time: 08/02/24 COMPLETION DATE

Attest:

Contract Description: DEBLOIS - BEDDINGTON, RT. 193, HIGHWAY REHABILITATION - FDR Notary Public

	o / Item ID			(1) COASTAL ROAD	REPAIR LLC.	(2) EUROVIA ATLANTION NORTHEAST			
Item De	escription						TAVIILO		
Alt Set	/ Alt Member	Quantity	and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
ECTION:	1 HIGH	IWAY ITEMS		Cat Alt Set:	Cat Alt Member	LCC:			
0010	204.211	800.000	800.000	35.00000	28,000.00	80.00000	64,000.00		
TRUCK M	DULDER AGGREGATE - MEASURE - DEPARTME D MATERIALS		CY						
0020	307.332	150,230.00എം	0,230.000	13.50000	2,028,105.00	18.00000	2,704,140.00		
PAVEMEN	PTH RECYCLED NT(W EMULSIFIED TSTABILIZER) 5 IN.	SY	SY						
0030	403.211	250.000	250.000	290.00000	72,500.00	250.00000	62,500.00		
HOT MIX	ASPHALT (SHIMMING)	Т	Т						
0040	411.101	4,500.000 4	4,500.000	27.50000	123,750.00	20.00000	90,000.00		
SURFACI MEASUR SUPPLIE MEASUR SUPPLIE	TED AGGREGATE E COURSE - TRUCK E - DEPARTMENT D MATERIALS TRUCK E DEPARTMENT D MATERIALS SSED MILLINGS)	CY	CY						
0050	627.78	192,000.00	2,000.000	0.12000	23,040.00	0.15000	28,800.00		
	ARY 4 INCH PAINTED NT MARKING LINE, WH OW	LF IITE	LF						
0060	629.05	20.000	20.000	66.00000	1,320.00	65.00000	1,300.00		
HAND LA	BOR, STRAIGHT TIME	HR	HR						
0070	631.12	100.000	100.000	175.00000	17,500.00	260.00000	26,000.00		
	POSE EXCAVATOR NG OPERATOR)	HR	HR						

Tabulation of Bids Page 2 of 3

Contract ID: 026872.30 Counties: WASHINGTON Maine Department of Transportation

Letting Date: May 01, 2024 District(s): EASTERN REGION A True Copy:______

Call Order: 2 Project(s): Title :

Contract Time: 08/02/24 COMPLETION DATE

Attest:

Contract Description: DEBLOIS - BEDDINGTON, RT. 193, HIGHWAY REHABILITATION - FDR Notary Public

Contract Description: BEBESIA BEBBIACTON, IAI. 100, THE HAVIA BELLIAMINE TEXT							rvotary r ublic		
Line No / Item ID Item Description			(1) COASTAL ROAD REPAIR LLC.		(2) EUROVIA ATLANTIC COAST LLC aka NORTHEAST PAVING				
Alt Set	/ Alt Member	Quantity	and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	1 HIGHWA	/ ITEMS		Cat Alt Set:	Cat Alt Member	LCC:			
0073	631.14	20.000	20.000	200.00000	4,000.00	290.00000	5,800.00		
GRADER	(INCLUDING OPERATOR)	HR	HR						
0076	631.15	20.000	20.000	175.00000	3,500.00	170.00000	3,400.00		
	EARTH AND BASE (INCLUDING DR)	HR	HR						
0800	631.161	50.000	50.000	1,160.00000	58,000.00	1,500.00000	75,000.00		
PAVING C	CREW	HR	HR						
0090	631.162	30.000	30.000	1,500.00000	45,000.00	1,800.00000	54,000.00		
PAVING (CREW (OVERTIME)	HR	HR						
0100	631.172	250.000	250.000	130.00000	32,500.00	135.00000	33,750.00		
TRUCK - OPERATO	LARGE (INCLUDING DR)	HR	HR						
0105	631.22	150.000	150.000	175.00000	26,250.00	140.00000	21,000.00		
FRONT E	ND LOADER (INCLUDING DR)	HR	HR						
0110	652.34	150.000	150.000	20.00000	3,000.00	28.00000	4,200.00		
CONE		EA	EA						
0120	652.35	96.000	96.000	29.00000	2,784.00	12.00000	1,152.00		
CONSTR	UCTION SIGNS	SF	SF						
0130	652.36	56.000	56.000	1,900.00000	106,400.00	2,230.00000	124,880.00		
	IANCE OF TRAFFIC L DEVICES	CD	CD						

Page 3 of 3

Maine Department of Transportation WASHINGTON Contract ID: 026872.30 Counties:

A True Copy:_____ May 01, 2024 **Letting Date:** District(s): **EASTERN REGION**

Call Order: 2 Project(s):

Contract Time: 08/02/24 COMPLETION DATE Attest: ____

Notary Public Contract Description: DEBLOIS - BEDDINGTON, RT. 193, HIGHWAY REHABILITATION - FDR

00:11.1 doi: D	220p2 222	20.0 2222		,	Notary Fubility				
Line No / Item ID Item Description			(1) COASTAL ROAD REPAIR LLC.		(2) EUROVIA ATLANTIC COAST LLC aka NORTHEAST PAVING				
Alt Set / Alt Me	ember	Quantity an	d Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 1	HIGHWAY	/ ITEMS	•	Cat Alt Set:	Cat Alt Member	LCC:			
0140 652.38	8	1,190.000 1,1	90.000	50.00000	59,500.00	60.00000	71,400.00		
FLAGGER		HR	HR						
0150 656.79	5	(1)	(1)	5,000.00000	5,000.00	15,000.00000	15,000.00		
TEMPORARY SO WATER POLLUT	OIL EROSION AND TON CONTROL	LS	LS						
0160 659.10	0	(1)	(1)	880,000.00000	880,000.00	498,000.00000	498,000.00		
MOBILIZATION		LS	LS						
Sec	tion Totals:		·		\$3,520,149.00		\$3,884,322.00		
Life C	ycle Costs:								
Section Total with LCC:					\$3,520,149.00		\$3,884,322.00		
Contract Item Totals					\$3,520,149.00		\$3,884,322.00		
Contract Time Totals									
Contract Life Cycle Costs Totals					\$0.00		\$0.00		
	Contract Gra	nd Totals			\$3,520,149.00		\$3,884,322.00		
			1			I		I	

() indicates item is bid as Lump Sum

Vendor Ranking

Call Order: 2 Contract ID: 026872.30 Counties: WASHINGTON

Letting Date: May 01, 2024 11:00 District(s): EASTERN REGION

Contract Time: 08/02/24 COMPLETION Min: Max:

DATE

Contract Description: DEBLOIS - BEDDINGTON, RT. 193, HIGHWAY REHABILITATION - FDR Project(s):

	Rank	Ver	ndor ID/Name	Total Bid	Percent Of Low Bid
1	(002650	COASTAL ROAD REPAIR LLC.	\$3,520,149.00	100.00%
2	(003318	EUROVIA ATLANTIC COAST LLC aka NORTHEAST PAVING	\$3,884,322.00	110.35%